
1

1

2

2

3

3

4

4

A A

B B

DRAWN

Mark McCrea

CHECKED

Chris Hayes

QA

MFG

APPROVED

Seppo Penttila

Chris Crawford

6/11/2014

University of Tennessee, Physics

TITLE

Scanner Mount Assembly

SIZE

B

SCALE

DWG NO

FUND13N3HE10MU8713 A020

REV

1

SHEET 1  OF 11 

Jack Thomison

7

9

8

REVISION HISTORY

ZONE REV DESCRIPTION DATE APPROVED

 1  

6/16/2014

 



PARTS LIST

DESCRIPTIONPART NUMBERQTYITEM

 Beam monitor11

 Pre-Amplifier12

 SC006 Gusset23

 SC010 Scanner Mount Base14

 
SC007 Mount Plate to XY Table15

 SC005 Front Plate16

 SC050 Front Collimator Cd layer17

 SC051 - Aluminum Screen18

 SC052 Li Plastic Collimator Layer19

Beam Monitor Stop 13135A61110

Machine Screw 8-32 UNC Pan head 3/4  in92446A1971311

Machine Screw 8-32 UNC Flat Head 3/4  in92671A009712

Machine Screw 12-24 UNC Round Head 1  in92453A296413

Hex Nut 8-32  - Brass 92671A009614

Hex Nut 12-24 -Brass92671A013415

1/8" Diameter, 3/4" Dowel Pin97395A451416

1

1

2

2

3

3

4

4

A A

B B

DRAWN

Mark McCrea

CHECKED

Chris Hayes

QA

MFG

APPROVED

Seppo Penttila

Chris Crawford

6/11/2014

University of Tennessee, Physics

TITLE

Scanner Mount Assembly

SIZE

B

SCALE

DWG NO

FUND13N3HE10MU8713 A020

REV

1

SHEET 2  OF 11 

Jack Thomison

1

2

3

5

6

4

REVISION HISTORY

ZONE REV DESCRIPTION DATE APPROVED

 1  

6/16/2014

 

Note:  Items 7 and 9 provided by BL-13 and

installed in the field.



1

1

2

2

3

3

4

4

A A

B B

DRAWN

Mark McCrea

CHECKED

Chris Hayes

QA

MFG

APPROVED

Seppo Penttila

Chris Crawford

6/11/2014

University of Tennessee, Physics

TITLE

Scanner Mount Assembly

SIZE

B

SCALE

DWG NO

FUND13N3HE10MU8713 A020

REV

1

SHEET 3  OF 11 

Jack Thomison

REVISION HISTORY

ZONE REV DESCRIPTION DATE APPROVED

 1  

6/16/2014

 



1

1

2

2

A A

B B

DRAWN

Mark McCrea

CHECKED

Chris Hayes

QA

MFG

APPROVED

Seppo Penttila

Chris Crawford

6/11/2014

University of Tennessee, Physics

TITLE

Scanner Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10MU8713 A020

REV

1

SHEET 4  OF 11 

Jack Thomison

SC005 Front Plate

Material:  6061 Aluminum

.000

.500

1.500

1.688

2.000

3.000

2.500

3.500

.000

.375

1.250

1.625

2.250 3.125

3.500

4.625

6.125

5.875 7.188

7.375

.938 1.750 4.750

1.000

3.000

R.250

R.250

.188 THRU

 .350 X 82°.188 THRU

.500 THRU .2495 THRU

.188 THRU

.188 THRU

.500

1.500

.2495 THRU

.2495 HRU

.375



DETAIL  A

SCALE 2 : 1

A

1

1

2

2

A A

B B

DRAWN

Mark McCrea

CHECKED

Chris Hayes

QA

MFG

APPROVED

Seppo Penttila

Chris Crawford

6/11/2014

University of Tennessee, Physics

TITLE

Scanner Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10MU8713 A020

REV

1

SHEET 5  OF 11 

Jack Thomison

.000 .875 1.178 1.323 1.625

.428

.875

.125

.573

4 x .122 HRU

.000



1

1

2

2

A A

B B

DRAWN

Mark McCrea

CHECKED

Chris Hayes

QA

MFG

APPROVED

Seppo Penttila

Chris Crawford

6/11/2014

University of Tennessee, Physics

TITLE

Scanner Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10MU8713 A020

REV

1

SHEET 6  OF 11 

Jack Thomison

.188

4.125

.000

4.125

.000

1.250

3.500

.375

4.125

110°

70°

.000 1.000 2.000 2.750

8-32 UNC  .500

8-32 UNC  .500

1.222

SC006 gusset

Material: 6061 Aluminum



1

1

2

2

A A

B B

DRAWN

Mark McCrea

CHECKED

Chris Hayes

QA

MFG

APPROVED

Seppo Penttila

Chris Crawford

6/11/2014

University of Tennessee, Physics

TITLE

Scanner Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10MU8713 A020

REV

1

SHEET 7  OF 11 

Jack Thomison

4 x .250 THRU
.177 THRU

6 x .177 THRU

1.625

3.875

4.500

.000

1.463

.000

.188

1.000

1.250

2.000

2.825

3.000

4.000 5.000

.375

SC007 mount plate

Material: 6061 Aluminum

8-32 UNC  .500

3.037



1

1

2

2

A A

B B

DRAWN

Mark McCrea

CHECKED

Chris Hayes

QA

MFG

APPROVED

Seppo Penttila

Chris Crawford

6/11/2014

University of Tennessee, Physics

TITLE

Scanner Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10MU8713 A020

REV

1

SHEET 8  OF 11 

Jack Thomison

.000

5.438

8.250
9.250

9.000

10.250

.000

.188

4.250

5.250

6.250

.177 THRU

.500 THRU

.177 THRU

.000 10.2506.250 7.250 8.250 9.250

.000

6.250

.875

2.375

3.875

5.375

.375

.188

.188 .375

8-32 UNC  .500

8-32 UNC  .500

SC010 Scanner Mount Base

Material: 6061 Aluminum

4 x .313 THRU

.564 2.627

.245

4.870

2.469

6.406

7.000

7.594



1

1

2

2

A A

B B

DRAWN

Mark McCrea

CHECKED

Chris Hayes

QA

MFG

APPROVED

Seppo Penttila

Chris Crawford

6/11/2014

University of Tennessee, Physics

TITLE

Scanner Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10MU8713 A020

REV

1

SHEET 9  OF 11 

Jack Thomison

.492

.492

SC051 Aluminum Collimator

Material: 6061 Aluminum

.125

.000 5.415

7.628

8.120

8.165

10.915 15.748

.000

3.046

5.046

6.250

6.742

12.992

.1883 x  THRU



1

1

2

2

A A

B B

DRAWN

Mark McCrea

CHECKED

Chris Hayes

QA

MFG

APPROVED

Seppo Penttila

Chris Crawford

6/11/2014

University of Tennessee, Physics

TITLE

Scanner Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10MU8713 A020

REV

1

SHEET 10  OF 11 

Jack Thomison

.394

.394

SC050 Front Collimator Cd

.000

7.677

8.071

.000

.000

12.992

6.299

6.693

Notes: 

 

1.  Material:  Cadmium neutron absorber.

 

2.  Apply Cadmium Layer around edges of hole. 

     Cadmium layer not required for distances greater 

     than one inch from center of aperture.

 

3.  Apply Cadmium layer on front of screen 

     Apply lithium over Cadmium.



1

1

2

2

A A

B B

DRAWN

Mark McCrea

CHECKED

Chris Hayes

QA

MFG

APPROVED

Seppo Penttila

Chris Crawford

6/11/2014

University of Tennessee, Physics

TITLE

Scanner Mount Assembly

SIZE

A

SCALE

DWG NO

FUND13N3HE10MU8713 A020

REV

1

SHEET 11  OF 11 

Jack Thomison

6.250

.492

15.748

12.992

.492 7.628

SC052 Li Plastic Collimator

Material:  Li Neutron Absober


		2014-07-16T15:24:47-0400
	Jack Thomison


		2014-07-16T15:30:40-0400
	Christopher Hayes


		2014-07-16T15:45:28-0500
	Christopher Crawford


		2014-07-17T09:04:49-0500
	Penttila, Seppo I.




